DEUX ECOSSAISES ET UNE VALSE

L. KREUTZER

JE: 1, 73'
e - ¢ 3 £
%L-J_LLD_L}LL

e : Ty ! |
.ﬁ_ - } - - '
T s H e
L}

-

‘Ealran dee dig Valses ot des Erosnaises de L K'I:"HILEET'}I Fchanlt Edi™ 4 H-‘.i':l-r_-!.Iialienu_.



'
i
-

F.
1
'




Lu:n‘ p——— "z_ 2 5
=== li — === | =t
VALSE | P
. e 'r_i*‘—" IF — 3 ]—j- 4
— ,-ﬂ.,—\ _
ET*J“ i ‘
2 - i a2
F5 $2 .5 SE=SE S
— — - = ===
P o3
., SO E.-:trﬁ_l_(:z_\ "'2"
T ke == T
4 m—r ==
Eg ” ELE _ AN
P ; JI i!r“" = S =

= | = ]
f::a-- I-"
F ¥ *‘
— . L -
_...'I._‘ I
EL 2
| —
e === i

JOURNAL DE MUSIQUE N? 230 . 15, QUAI VOLTAMIE PAKIN



	Kreutzer - Ecossaise 1
	Kreutzer - Ecossaise 2
	Kreutzer - Valse 1

